o=
(B R EEHE) (25} ERBIES) 12R138  fBHEAHI H5 2K HR(FE->C-#EYD-IE)
o4 B | X O 4 B | M| EP| OB o4 B | =P R O 4 B | M| EP G
XEA 50 | 45 | 95 FEE 31 | 36 | 67 B&RE2 3 1 4 A1 1 1
FRIK 23 | 12 | 35 B 12 | 12 | 24 BEK 2 2 4 HBEA 1 1
5 A B 5 8 | 13 FRAER 11| 9 | 20 BEXX 2 2 4 =W N: 1 1
e 7 5 | 12 REETE 121 7 | 19 EXEBE 2 | 2| 4 FEPNG 1 1
AL S 2 4 6 e 4 | 13 | 17 HE75 2 1 3 =Mx 1 1
% 1 3 4 BEEHR 6 9 | 15 XEEE 2 1 3 R 1 1
B A 1 2 3 EEH 6 8 | 14 BiEE 2 1 3 HE=EA 1 1
it B 5 2 2 R 4%5 4 7 | 11 SEHOHE 1 2 3 e 1 1
ZEEE 1 1 2 = 7 3 | 10 Lk 1 2 3 EAKER 1 1
TRE (BH) 1 1 XEH 3 7 | 10 [E %= 2 2 BZE 1 1
BARRK 1 1 =P 2 7 9 F1{EHk 2 2 ERER 1 1
BREX 1 1 XERE 3 4 7 REE 1 1 2 B XE 1 1
INET 93 | 82 | 175| |EE& 5 1 6 FERE 1 1 2 dER 1 1
BsThsE 2 | 4 6 XEES 2 2 it 141 | 154 | 295
Rk 1 4 5 EEE 1 1 =111 234 | 236 | 470




o=
(B R EEHE) (25} ERBIES) 12R148 18545 HIR HR (NS - )11 - (UFF - A L - 4 - 54 B %)
o4 B | X O 4 B | M| EP| OB o4 B | =P R O 4 B | M| EP| OB
XEA 33 | 51 | 84 FEE 29 | 32 | 61 Elk 3 1 4 BE AR 1 1
FRIK 16 | 20 | 36 EAETE 21 | 26 | 47 BEE 2 2 4 BEE 1 1
etk 5 | 14 | 19 i #%5 13 | 19 | 32 FERE 3 3 8% 1 1
AR 7 8 | 15 SRR 9 | 16 | 25 REE 3 3 e 1 1
AL S 3 5 8 fB2iE 10 | 13 | 23 HE75 1 3 A1 1 1
B RBA 2 1 3 e 5k 51 9 | 14 HEEHK 1 3 UEBE 1 1
Z£A% 1 2 3 BT 7 5 | 12 F11EH 2 2 EER 1 1
FER 1 2 | 3 E i3 3| 9 | 12 ZHE26 1 1 2 JtF R 1 1
ZEEE 1 1 2 = 5 6 | 11 EES 1 1 2 TER 1 1
B 1 1 EERE 4 5 9 [E %= 1 1 2 BERA 1 1
TEZE 1 1 XEEE 3 6 9 #EEA 2 2 BERE 1 1
TEA 1 1 XEH 4 4 8 XEBF 1 1 R EA 1 1
K& 1 1 " 4 | 4| 8 HMEA 1 1 Ei4E 1 1
INET 70 | 107 | 177 | |#2%4E 3 5 8 TEA B 1 1
ZRA 4 2 6 A=EfE 1 1 it 154 | 184 | 338
=P 1 4 5 XEX 1 1 =11 224 | 291 | 515




o=
(B R EEHE) (25} ERBIES) 12R158 fBHE4HI 55K HUR (& K- R =RE- HEV- R RER-THE)
EOmE 4 B | M| XD O 4 B | M| EP| OB o4 B | =P R O 4 B | M| EP G
XEA 47 | 57 | 104]| |EBEE 33 | 29 | 62 F1TEB 3 3 2= 1 1
FRIK 17 | 17 | 34 KIETE 17 | 22 | 39 HEA 3 3 =E 1 1
TEE ik 12 | 18 | 30 fB2iE 9 8 | 17 XERE 2 1 3 %= 1 1
13 A B 8 8 | 16 XEH 7 9 | 16 =Pz 1 2 3 EHE 1 1
AL S 4 | 2 6 FRAER 7 7 | 14 XERE 1 2 3 [ 2 = 1 1
L£RE 1 1 = 5 8 | 13 AfBA 1 2 3 HFEA 1 1
% 1 1 5 R 45 5 5 | 10 BZE 3 3 ATELE 1 1
ftatk 1 1 ] 5 5 | 10 = 1Ip S 3 3 B&aRA2 1 1
fgiE 1 1 BiEg 4 6 | 10 £ S 3 3 mE 1 1
B3 1 1 Wk 5 3 8 EEE 2 2 XEBEE 1 1
B A 1 1 XEEF 1 6 | 7 RRA 2 2 E1{EtE 1 1
FER B 1 1 E i3 3| 3| 6 BEA 2 2 E21E 1 1
B&A007 1 1 xR 2 | 4 6 BHE AR 2 2 £ KER3 1 1
21899 1 1 EBA 2 | 3] 5 #EA 1 2 UEBE 1 1
INET 94 | 105 | 199 | |BsmsE 2 3 5 HE75 2 i Fie s 1 1
HEMK 1 4 | 5 R EA 2 BE 1 1
BE TR 5 5 FERE 1 1
ZER 1 3 4 &F1%= 1 1 Hi 135 | 171 | 306
BEXRX 1 3 4 mEx 1 1 HEt 229 | 276 | 505




